SECTION 2 | Test 5

1 4+40+400=
2 840= tens

3 18m= mm

4 Write the missing numbers

in this sequence.
750, 800, 850, 900,

5 %h—ZOmin: min

6 (9x0)+3=

7 2%kg><7=

8 f3= 20ps

9 agofdo
b%of40

10 £150+6= p

min

1 8 plus 8 plus 8 plus 8 equals

2 Write 5m 60cm to the
nearest metre.

3 Write the fifteenth
of September 2014
in digits.

4 Multiply 38p by 10.

5 How many sevens in
seven hundred?
1 . 3
6 27 minuslz =

7 How much change from
50p after buying six 8p
raffle tickets?

8 Add together 15, 0 and 17.

9 Find the difference between

719 and 735.

10 Which number is nine times

larger than 7?

10

Schofield & Sims

Answer

Which of these angles is
an obtuse angle?

W B LY h

Find the cost of 150cm of
material at 80p a metre. f

Jacob buys four DVDs at
£9 each. How much change
has he from a £50 note? f

Hassan's father is 36 years old.
Hassan is one-quarter as old.
How old will Hassan be in

five years' time?

Samina had £1 worth of
5ps and £1 worth of 10ps.
How many coins had she
altogether?

Ravi is 90cm tall. Grace is
one and a half times his
height. How tall is Grace? . cm

Harry has £1.50. Jessica
has 85p less than Harry.
How much has Jessica? p

What is the difference
between 10 times 85 and
10 times 1007?

1 .
3 ofa nL1meer is 8.
What is 7 of the number?

a |44p | Which amount,
a, borc, can be

b 169p paid exactly using
€ 158p | some of the
coins below?




